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Discussion Questions

D1 What is the definition of weak isospin and weak hypercharge?

Calculate the weak isopsin (T, T3) and weak hypercharge (Y ) for each of the first
generation fermions.

D2 In the Electroweak model, the fermion current associated with the photon is:

(jγ)µ = (jW3)µ sin θW + (jY )µ cos θW

What does this equation mean? You may wish to discuss:

• What is a fermion current?

• What does the µ stand for?

• What is θW ?

• What are (jW3)µ and (jY )µ?

D3

Standard Questions

S1 In the Electroweak model, the fermion current associated with the photon is:

(jγ)µ = (jW3)µ sin θW + (jY )µ cos θW

Where:
(jWi)µ = [gW T ] χL γµ τi χL

and for electrons:

jY
µ = (

1

2
g′W Ye) eγµe =

1

2
g′W (YeLēLγµeL + YeRēRγµeR)

In these equations e represents the electron spinor and Ye is the weak hypercharge
of the electron.

Substitute in: χL =

(
e−

νe

)
and τ3 =

(
1 0
−1 0

)
and the appropriate values of

weak isospin (T ) and weak hypercharge (Y ).

Show that if the electron charge, e = g′W cos θW = gW sin θW then the known
behaviour of the photon is reproduced.
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